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Exercise 01
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Find your way out of the maze by solving
each Prolalemc;
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ANSWER KEYS

Exercise 01
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Find your way out of the maze by solving
each Prolalemc;
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Find your way out of the maze by solving
each Prolalemc;
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Exercise 02
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Find your way out of the maze by solving
each Prolalemc;
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Find your way out of the maze by solving

@6 each problems

Exercise 03

(a5-7=_) B8+12=_) (12-7=_)) 8+9=_)(7-4=_)

= —_
+ =
5 +
\Va}
] I
Ll L
(13-7=_)

( =6+6)

Start

(15-4=_)

—_ 1)
6+9=_) (@o+3=_) (9-9=_)| =
— O
‘ﬁ [
(5-11=_)(14-7=_)@o-10=_) _ | L
= ™
o (12+43=_)(12+5=_) A1+3=_) ?
I o
| Il
| = _
5 ' (12-11=_) (9-5=_)(12+6=_))
+ | =
‘fl‘ I
| | @+14=_) B+10=_)(9+9=_)

(1B-11=_)(14-8=_)(14-6=_)(8+4=_)

4

Finish

=




I

N

Find your way out of the maze by solving
each Prolalemc;

Exercise 03
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ANSWER KEYS
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e Find your way out of the maze by

solving each Prolalems
* Each problems are connected to each
other. Answer the First problem in the

9+ar+in3 Poin+. Your answer then will
become the ADDEND or SUBTRAHEND

;geuei 02 for the next guestion

EXAMPLE ~ s+4= () 7<) +4=()
s+4=(9)9-7(2) 2 +4=(6)

Exercise 04
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e Find your way out of the maze by

solvina each Pr'ololems
* Each problems are connected to each
other. Answer the First problem in the

9+ar+in3 Poin+. Your answer then will
become the ADDEND or SUBTRAHEND

;geueo” 02 for the next question

ANSWER KEYS

Exercise 04
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solving each Prololems
* Each problems are connected to each

Lovel 02

EXAMPLE

Exercise 05
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e Find your way out of the maze by

other. Answer the First problem in the
9+ar+in3 point. Your answer then wil
become the ADDEND or SUBTRAHEND
For the next question
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e Find your way out of the maze by

=

solving each Prololems
* Each problems are connected to each

other. Answer the First problem in the
9+ar+in3 Poin+. Your answer then will
become the ADDEND or SUBTRAHEND

;geuei 02 for the next guestion

Exercise 05

ANSWER KEYS
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